A GENERALIZATION OF DYNKIN'S IDENTITY AND SOME APPLICATIONS

BY KRISHNA B. ATHREYA AND THOMAS G. KURTZ

Indian Institute of Science, Bangalore and University of Wisconsin

Let X(t) be a right continuous temporally homogeneous Markov process, T_t the corresponding semigroup and A the weak infinitesimal generator. Let g(t) be absolutely continuous and τ a stopping time satisfying

$$E_x(\int_0^\tau |g(t)| dt) < \infty$$
 and $E_x(\int_0^\tau |g'(t)| dt) < \infty$.

Then for $f \in \mathcal{D}(A)$ with f(X(t)) right continuous the identity

$$E_x g(\tau) f(X(\tau)) - g(0) f(x) = E_x (\int_0^{\tau} g'(s) f(X(s)) ds) + E_x (\int_0^{\tau} g(s) A f(X(s)) ds)$$

is a simple generalization of Dynkin's identity $(g(t) \equiv 1)$.

With further restrictions on f and τ the following identity is obtained as a corollary:

$$E_{x}(f(X(\tau))) = f(x) + \sum_{k=1}^{n-1} \frac{(-1)^{k-1}}{k!} E_{x}(\tau^{k}A^{k}f(X(\tau))) + \frac{(-1)^{n-1}}{(n-1)!} E_{x}(\int_{0}^{\tau} u^{n-1}A^{n}f(X(u)) du).$$

These identities are applied to processes with stationary independent increments to obtain a number of new and known results relating the moments of stopping times to the moments of the stopped processes.

0. Introduction. In [7] W. J. Hall proved identities of the form

$$E((X(\tau))^n) = \sum_{k=1}^{\lfloor n/2 \rfloor} \sum_{l=0}^{n-2k} a_{k,l}^{(n)} E(\tau^k X(\tau)^l)$$

for processes with stationary independent increments. For n=2 these identities are a simple consequence of a natural extension of Dynkin's Identity $E(f(X(\tau))) - f(x) = E(\int_0^x Af(X(s)) ds)$. In attempting to apply this method of proof for n > 2, we were led to the identity

$$E_{x}(f(X(\tau))) = f(x) + \sum_{k=1}^{n-1} \frac{(-1)^{k-1}}{(k-1)!} E_{x}(\tau^{k} A^{k} f(X(\tau))) + \frac{(-1)^{n-1}}{(n-1)!} E_{x}(\hat{y}_{0}^{\tau} u^{n-1} A^{n} f(X(u)) du)$$

(which we later discovered also appears in work of Has'minskii [8] and Helms [9]) and to natural extensions of it. As straight forward applications of this and related identities we are able to obtain the results of Hall [7] (under slightly weaker assumptions) as well as other results including an inequality of Burkholder and Gundy [1].

Received September 8, 1972; revised December 26, 1972.

AMS 1970 subject classifications. Primary 6060; Secondary 6069.

Key words and phrases. Markov process, stationary independent increments, Dynkin's identity, stopping time, infinitesimal generator semigroup, martingales.

In the next section we prove a generalization of Dynkin's identity and specialize it in Section 2 for a process with stationary independent increments with zero mean. In Section 3 we discuss the relation between the moments of this process and the associated canonical measure. Finally in Section 4 we give new proofs of Hall's results and some new results.

The referee pointed out that the identity in Theorem 4 may be obtained directly from the change of variable formula for semimartingales in [2] provided one knows that certain expectations are finite. Our techniques, however, depend on standard material in the theory of Markov processes and can also be applied to processes that do not have independent increments (see [10]).

1. Generalization of Dynkin's identity. Let (Ω, \mathbb{F}, P) be a probability space and let $\{X(t, \omega); t \geq 0\}$ be a right continuous temporally homogeneous Markov process with a topological state space E. Let B be the Banach space of bounded measurable real-valued functions on E endowed with the supnorm. For each t define the operator T_t on B by

$$(T, f)(x) = E(f(X(t)) | X(0) = x).$$

It is known [4] that $\{T_t; t \ge 0\}$ is a semigroup of bounded operators on B, which is strongly continuous on some subspace. Let A denote the weak infinitesimal generator of the semigroup $\{T_t\}$ defined as follows: Let $f \in B$ be such that

(1)
$$\sup_{t>0} \left\| \frac{(T_t f)(x) - f(x)}{t} \right\| < \infty$$

and

(2)
$$\lim_{t\downarrow 0} \frac{(T_t f)(x) - f(x)}{t} = g(x) \text{ exists}$$

for each x in E where $g \in B$. Denote this class of f's as $\mathcal{D}(A)$. For $f \in \mathcal{D}(A)$ define Af = g.

For $f \in \mathcal{D}(A)$

(3)
$$(T_t f)(x) - f(x) = \int_0^t (T_u A f)(x) du .$$

Using E_x for the expectation operator with X(0) = x this becomes

(4)
$$E_x f(X(t)) - f(x) = E_x(\int_0^t Af(X(u)) du).$$

This plus the Markov property implies that

(5)
$$Y_1(t) = f(X(t)) - f(X(0)) - \int_0^t Af(X(u)) du$$

is a martingale.

Now if τ is a stopping time with $E_x(\tau) < \infty$ then since $|Y_1(\tau)| \le 2||f|| + ||Af||\tau$, applying Doob's optional sampling theorem [3] one readily gets the following identity first observed by Dynkin.

THEOREM 1. (Dynkin [4]). If $f \in \mathcal{D}(A)$ and f(X(t)) is right continuous in t a.s. then for any stopping time τ with $E_x(\tau) < \infty$ one has $E_x Y_1(X(\tau)) = 0$ or alternatively

(6)
$$E_x f(X(\tau)) = f(x) + E_x(\int_0^\tau Af(X(u)) du).$$

Next, let g(t) be a real-valued, absolutely continuous function. The following semigroup identity is straightforward. For $f \in \mathcal{D}(A)$

(7)
$$g(t)(T(t-u)f)(x) - g(u)f(x)$$

= $\int_u^t g'(s)(T(s-u)f)(x) ds + \int_u^t g(s)(T(s-u)Af)(x) ds$.

If $g(t) \equiv 1$, and u = 0 then (7) becomes (3). This, as before, implies that

(8)
$$Y_2(t) = g(t)f(X(t)) - g(0)f(X(0)) - \int_0^t g'(s)f(X(s)) ds - \int_0^t g(s)Af(X(s)) ds$$
 is a martingale.

Once again applying Doob's optional sampling theorem [2] we get the following generalization of Dynkin's identity.

THEOREM 2. Let $f \in \mathcal{D}(A)$ and f(X(t)) be right continuous in t. Let g(t) be absolutely continuous in t. If τ is a stopping time such that

$$E_x(\int_0^\tau |g(s)| ds) < \infty$$
 and $E_x(\int_0^\tau |g'(s)| ds) < \infty$

then

(9)
$$E_x g(\tau) f(X(\tau)) - g(0) f(x) = E_x(\int_0^\tau g'(s) f(X(s)) ds) + E_x(\int_0^\tau g(s) A f(X(s)) ds)$$

We can use Theorems 1 and 2 to obtain a further generalization of Theorem 1.

THEOREM 3. For $n \ge 1$ let f, Af, \cdots , $A^{n-1}f \in \mathcal{D}(A)$ and f(X(t)), Af(X(t)), \cdots , $A^{n-1}f(X(t))$ be right continuous in t. Let τ be a stopping time such that $E_z(\tau^n) < \infty$. Then

(10)
$$E_x f(X(\tau)) = f(x) + \sum_{k=1}^{n-1} \frac{(-1)^{k-1}}{k!} E_x(\tau^k A^k f(X(\tau))) + \frac{(-1)^{n-1}}{(n-1)!} E_x(\hat{y}_0^\tau s^{n-1} A^n f(X(s)) ds).$$

PROOF. Take $g(t) = t^k$ and f to be $A^k f$ in Theorem 2. We get for $k \le n - 1$

(11)
$$E_x \tau^k A^k f(X(\tau)) = k E_x (\int_0^\tau s^{k-1} A^k f(X(s)) \ ds) + E_x (\int_0^\tau s^k A^{k+1} f(X(s)) \ ds) \ .$$
 Setting

(12)
$$a_k = \frac{(-1)^k}{k!} E_x(\int_0^{\tau} s^k A^{k+1} f(X(s)) ds)$$

we get

(13)
$$a_k - a_{k-1} = \frac{(-1)^k}{k!} E_x(\tau^k A^k f(X(\tau))) \equiv b_k.$$

By Theorem 1

$$E_x f(X(\tau)) - f(x) = a_0$$

which by (13) is

$$-\left[\sum_{k=1}^{n-1} b_k + a_{n-1}\right] = \sum_{k=1}^{n-1} \frac{(-1)^{k-1}}{k!} E_x(\tau^k A^k f(X(\tau))) + \frac{(-1)^{n-1}}{(n-1)!} E_x(\int_0^\tau s^{n-1} A^n f(X(s)) ds)$$

proving (10). []

REMARK 1. It is worth noting that one can again give a martingale proof of Theorem 3 using the semigroup identity

(14)
$$T_{t-s}f - f = \sum_{k=1}^{n-1} \frac{(-1)^{k-1}}{k!} (t^k T_{t-s} A^k f - s^k A^k f) - \frac{1}{(n-1)!} \int_0^t u^{n-1} T_{u-s} A^n f \, du.$$

REMARK 2. Theorem 3 appears implicitly in the work of Hasminskii [8] and Helms [9] who used it to give a probabilistic representation of solutions of some differential equations.

2. Processes with stationary independent increments and their generators. Let $\{X(t); t \ge 0\}$ be a right continuous process with stationary independent increments. The general form of the infinitesimal generator for this process is given by (see Feller [5])

(15)
$$Af(x) = \int_{|y| < 1} \frac{f(x+y) - f(x) - yf'(x)}{y^2} \Omega(dy) + \int_{|y| \ge 1} \frac{f(x+y) - f(x) - f'(x)}{y^2} \Omega(dy) + bf'(x)$$

where b is a constant, the integrand is defined as $\frac{1}{2}f''(x)$ at y=0, and Ω is a measure on R, $\int (1+y^2)^{-1}\Omega(dy) < \infty$ and is defined for all bounded f which are twice continuously differentiable functions with bounded derivatives—of two orders. We take the Banach space on which the semigroup T_t associated with X(t) acts to be the space of all bounded continuous functions having limits as $x \to \pm \infty$. If

$$\int \frac{1}{1+|y|} \Omega(dy) < \infty$$

then we may take A to be of the form

(17)
$$Af(x) = \int_{-\infty}^{+\infty} \frac{f(x+y) - f(x) - yf'(x)}{y^2} \Omega(dy) + bf'(x).$$

Also, it is known that $E|X(t)| < \infty$ for t > 0 if and only if (16) holds. If EX(t) = 0 then b becomes zero in (17). From now on we shall assume (16) holds and take b = 0 in (17). Thus $\{X(t); t \ge 0\}$ is a process with stationary independent increments with zero mean. We shall always assume that this process has right continuous sample paths. The generator A now simply becomes

(18)
$$Af(x) = \int_{-\infty}^{+\infty} \int_0^1 \int_0^z f''(x + yu) du dz \Omega(dy).$$

The right side of (18) is well defined for all f such that

(19)
$$\sup_{0 \le u \le 1} \int |f''(x+uy)| \Omega(dy) < \infty.$$

We may extend the operator A to all f's satisfying (19). We shall denote this extension by \mathcal{A} . We know that Theorems 2 and 3 are valid for f's in the domain

of A. We can now extend them to a larger class of f's. Of course, we have to use the extended operator \mathcal{A} on the right side. The precise result is

Theorem 4. Let φ be a nonnegative twice continuously differentiable convex function on R. Let g be continuously differentiable and nondecreasing. Let τ be a stopping time such that $E_{\pi}(\tau) < \infty$. Then

(20)
$$E_x g(\tau)\varphi(X(\tau)) - g(0)\varphi(x) = E_x(\int_0^\tau g'(s)\varphi(X(s)) ds) + E_x(\int_0^\tau g(s) \mathscr{A}\varphi(X(s)) ds)$$

where equality holds even when one side is infinite.

PROOF. Let us assume first that g and g' are bounded and there exists $k < \infty$ such that φ is linear for $|x| \ge k$. This implies that φ'' has compact support and φ' is bounded. There exists a sequence of bounded, twice continuously functions φ_n such that

$$\sup_{n,x} |\varphi_n'(x)| < \infty$$
, $\sup_{n,x} |\varphi_n''(x)| \equiv M < \infty$

and $\varphi_n \uparrow \varphi$. Theorem 2 is valid for each φ_n and the $A\varphi_n$ are uniformly bounded in n. By monotone convergence on the left and dominated convergence on the right we obtain (20).

Next let g and φ satisfy the hypothesis of the theorem. It is not difficult to see that there exist continuously differentiable g_n such that g_n and $g_{n'}$ are bounded, $g_n \uparrow g$, $g_{n'} \uparrow g'$ and there exist φ_n nonnegative, convex and ultimately linear such that $\varphi_n \uparrow \varphi$, $\varphi_{n''} \uparrow \varphi''$. Thus $\mathscr{A}\varphi_n \uparrow \mathscr{A}\varphi$. Now by the monotone convergence theorem and the first part of the proof we get (20) with the interpretation that if one side is infinite so is the other.

REMARK 1. Both sides of (20) are linear in g and φ . Hence, when all the quantities involved are finite then (20) will be valid for linear combinations of φ 's and g's i.e. in much greater generality.

REMARK 2. As a simple application of Theorem 4 consider the case $\Omega(R) < \infty$ g(t) = 1 and $\varphi(x) = x^2$. Then $\mathscr{S}\varphi$ is well defined and by Theorem 4 we get

COROLLARY 1. If $E_x(\tau) < \infty$ then

(21)
$$E_x X^2(\tau) = \Omega(R) E_x(\tau) .$$

REMARK 3. The hypothesis $E_z(\tau) < \infty$ is indispensable. In fact, if $\{X(t)\}$ is standard Brownian motion and τ is the first time the process exceeds one then $E_0(\tau) = \infty$ whereas by continuity of paths $X^2(\tau) = 1$ w.p. 1. and thus has all the moments.

REMARK 4. One can extend the result of Theorem 3 to a larger class of f's in a similar fashion. We note that

$$\sup_{0 \le t_i \le 1, \ i=1,2,\cdots,k} \int \int \int |\varphi^{(2k)}(x+t_1y_1+t_2y_2+\cdots+t_ky_k)|\Omega(dy_1)\Omega(dy_2)\Omega(dy_k) \\ < \infty$$

for $k = 1, 2, \dots, n$ implies $\mathcal{N}\varphi, \mathcal{N}^2\varphi, \dots, \mathcal{N}^n\varphi$ are all well defined.

3. Moments of a processes with stationary independent increments and the associated canonical measure Ω . The results of this section are part of the oral tradition in this area and in fact, are even derivable for some cases from results of Feller [6] regarding the relation between the tails of X(t) and Ω . We present them here for the sake of completeness as well as due to the fact that they are not readily available. Also the power of the semigroup approach is illustrated here very clearly.

THEOREM 5. Let $\{X(t); t \ge 0\}$ be a process with stationary independent increments with zero mean. Let Ω be the associated measure in the sense of (18). Then, for $\alpha > 1$

(22)
$$E|X(t)|^{\alpha} < \infty \quad \text{iff} \quad \int_{|y| \ge 1} |y|^{\alpha - 2} \Omega(dy) < \infty .$$

PROOF. For $\alpha \geq 2$, taking $g \equiv 1$ and $\varphi(x) = |x|^{\alpha}$, Theorem 4 implies

(23)
$$E_{x}|X(t)|^{\alpha} - |x|^{\alpha}$$

$$= \alpha \cdot (\alpha - 1)E_{x}(\int_{0}^{t} \int_{-\infty}^{+\infty} \int_{0}^{1} \int_{0}^{z} |X(s) + yu|^{\alpha - 2} du dz \Omega(dy) ds) .$$

For $p \ge 0$, $|a + b|^p \le c(|a|^p + |b|^p)$ where $c = 2^{p-1}$ if p > 1 and 1 if $0 \le p \le 1$. Consequently

(24)
$$E_x |X(t)|^{\alpha} \le |x|^{\alpha} + \int_0^t (c_1 E_x |X(s)|^{\alpha-2} + c_2) ds$$

where $c_2=2^{\alpha-2}\int |y|^{\alpha-2}\Omega(dy)$. If $\int |y|^{\alpha-2}\Omega(dy)<\infty$, it follows easily that $E_x|X(t)|^{\alpha}<\infty$. Conversely, if $E|X(t)|^{\alpha}<\infty$ then $E_x|X(s)|^{\alpha-2}<\infty$ for $s\leq t$ and from (23) we get $\int_{-\infty}^{+\infty}\int_0^1\int_0^z E_x|X(s)+yu|^{\alpha-2}du\ dz\ \Omega(dy)<\infty$. Since

$$|yu|^{\alpha-2} \le c(|yu + X(s)|^{\alpha-2} + |X(s)|^{\alpha-2})$$

we have $\int_{-\infty}^{+\infty} \int_0^1 \int_0^z |yu|^{\alpha-2} du dz \Omega(dy) < \infty$, and hence $\int_0^{+\infty} |y|^{\alpha-2} \Omega(dy) < \infty$.

Turning now to the case $1 < \alpha < 2$ we first note that for $\varphi(x) = |x|^{\alpha}$, $\Im \varphi$ is not well defined. To avoid this difficulty define

$$\psi(x) = 1 \qquad \text{if} \quad |x| \le 1$$
$$= |x|^{\alpha - 2} \qquad \text{if} \quad |x| > 1$$

and

$$\varphi(x) = \int_0^x \int_0^y \psi(t) dt dy.$$

Then $\varphi(0) = \varphi'(0) = 0$, $\varphi''(x) \ge 0$ and decreasing as $x \to \infty$. It is easily checked that

$$|\varphi(x+y) - \varphi(x) - y\varphi'(x)| = \int_0^{|y|} \int_0^z \varphi''(w+x) \, dw \, dz$$

$$\leq 2 \int_0^{|y|} \int_0^{z/2} \varphi''(w) \, dw \, dz \quad \text{(since } \varphi'' \text{ is } \downarrow \text{)}$$

$$\leq 4\varphi\left(\frac{|y|}{2}\right).$$

Consequently, if $\int |y|^{\alpha-2}\Omega(dy) < \infty$

$$\mathscr{S}\varphi(x) \leq 4 \, \mathfrak{f} \, \frac{\varphi(|y|/2)}{y^2} \, \Omega(dy) \equiv K < \infty \, ,$$

and hence

(26)
$$E_{x}\varphi(X(t)) = \varphi(x) + E_{x}(\int_{0}^{t} \mathscr{A}\varphi(X(s)) ds)$$

$$\leq 1 + Kt < \infty.$$

Since $\varphi(x) \sim (\alpha(\alpha-1))^{-1}|x|^{\alpha}$ as $|x| \to \infty$ this proves that $E|X(t)|^{\alpha} < \infty$. The converse is proved in the same way as before using the estimate

(27)
$$\varphi''(x + y) \ge |x + y|^{\alpha - 2}$$
 for $x \ge 0, y \ge 1$.

By a similar method one can establish the following result on moment generating functions.

THEOREM 6. For $\theta > 0$, $\int e^{\theta y} \Omega(dy) < \infty$ implies $E_x e^{\theta X(t)} < \infty$.

PROOF. Let $\psi_N(x) = \theta^2 e^{\theta(x \wedge N)}$ and

$$\varphi_N(x) = \int_{-\infty}^x \int_{-\infty}^y \psi_N(t) dt dy = e^{\theta x} \qquad x \leq N$$

$$= e^{\theta N} \left(1 + \theta(x - N) + \theta^2 \frac{(x - N)^2}{2} \right) \qquad x > N.$$

Then φ_N is convex and

(28)
$$E_x \varphi_N(X(t)) = \varphi(x) + E_x(\int_0^t \mathscr{A} \varphi_N(X(s)) ds).$$

But $\mathcal{A}\varphi_N(x) = \int_{-\infty}^{+\infty} \int_0^1 \int_0^z \psi_N(x + wy) dw dz \Omega(dy)$ and since

$$\psi_N(x + wy) \le e^{\theta wy} \psi_N(x) \le \theta^2 e^{\theta wy} \varphi_N(x)$$

 $E_x \mathscr{A} \varphi_N(X(s)) \leq \theta^2 a(\theta) E_x \varphi_N(X(s))$ where $a(\theta) = \sup_{0 \leq w \leq 1} \int e^{\theta w y} \Omega(dy)$. Thus from (28) we get

$$E_x \varphi_N(X(t)) \leq \varphi(x) + \theta^2 a(\theta) \int_0^t E_x \varphi_N(X(s)) ds$$
.

It can be checked that $E_x(\varphi_N(X(t))) < \infty$, so Gronwall's inequality implies

$$(29) E_x \varphi_N(X(t)) \le K e^{\gamma t}$$

where K and γ depend on θ but not N. If we let $N \to \infty$, the theorem follows by Fatou's lemma.

4. Application to moments of $X(\tau)$. In this section we obtain Hall's [6] results on $E(X(\tau)^n)$ where τ is a stopping time for the process $\{X(t); t \ge 0\}$. We remind the reader that $X(\cdot)$ is a process with stationary independent increments with zero mean. We shall assume without loss of generality that X(0) = 0 a.s.

Theorem 7. Let τ be a stopping time for $X(\cdot)$. Then the following hold:

(i) For $n \ge 2$ there exist constants c and C (finite and positive) depending on n and Ω such that if $E(\tau) < \infty$ and $\int |y|^{n-2}\Omega(dy) < \infty$ then

(30)
$$cE\tau^{n/2} \leq E|X(\tau)|^n \leq C \max \{E(\tau), E(\tau^{n/2})\}.$$

(ii) If $n \ge 2$, $E(\tau^{n/2}) < \infty$, $\int |y|^{n-2}\Omega(dy) < \infty$ then there exist constants $a_{k,1}$ independent of τ but depending on n and Ω such that

(31)
$$E(X(\tau)^n) = \sum_{1 \le n-2k, k \le \lfloor n/2 \rfloor} a_{k,l}^{(n)} E(\tau^k X(\tau)^l) .$$

PROOF. Taking $\varphi(x) = |x|^n$ and $g(t) \equiv 1$ in Theorem 4 we get

$$E(|X(\tau)|^n) = n(n-1)E(\int_0^\tau \int_R \int_0^1 \int_0^z |X(s) + wy|^{n-2} dw dz \Omega(dy) ds).$$

But, $|a + b|^{n-2} \le c(|a|^{n-2} + |b|^{n-2})$ and hence

(32)
$$E(|X(\tau)|^n) \leq c_1 E(\tau) + c_2 E(\int_0^{\tau} |X(s)|^{n-2} ds)$$

where we used the fact $\int |y|^{n-2}\Omega(dy) < \infty$. Clearly,

$$E(\int_0^{\tau} |X(s)|^{n-2} ds) \le E(\tau \sup_{s \le \tau} |X(s)|^{n-2})$$

$$\le (E(\tau^{n/2}))^{2/n} E((\sup_{s \le \tau} |X(s)|)^n)^{(n-2)/n}.$$

Let τ be a bounded stopping time. It follows from (32) that $E(|X(\tau)|^n) < \infty$. By Doob's result on submartingales (note that for $n \ge 1$, $|X(s)|^n$ is a submartingale) [2]

(33)
$$E(\sup_{s \le \tau} |X(s)|^n) \le \left(\frac{n}{n-1}\right)^n (E|X(\tau)|^n) \qquad \text{for } n > 1.$$

From (32) we now have

(34)
$$E|X(\tau)|^n \leq c_1 E(\tau) + c_2 (E(\tau^{n/2}))^{2/n} (E|X(\tau)|^n)^{(n-2)/n}$$

and hence

(35)
$$(E|X(\tau)|^n) \leq \left[\frac{c_1 E(\tau)}{(E|X(\tau)|^n)^{(n-2)/n}} + c_2 (E(\tau^{n/2}))^{2/n} \right]^{n/2}.$$

Now drop the assumption that τ is bounded. Taking $\tau \wedge N$ and letting $N \to \infty$ in (35) yields the finiteness of $E(|X(\tau)|^n)$ as well as (34) and (35) for all stopping times with $E(\tau^{n/2}) < \infty$. Now either $E\tau < (E\tau^{n/2})^{2/n}(E|X(\tau)|^n)^{(n-2)/n}$ or the other way around. In the former case we see from (34) that

$$E|X(\tau)|^n \leq (c_1 + c_2)^{n/2}(E(\tau^{n/2})).$$

In the latter case we get

$$E|X(\tau)|^n \leq (c_1 + c_2)E(\tau) .$$

This proves the right half of (30).

We now turn to the left half of (30).

Let $g(s) = (s \wedge k)^{(n/2)-1}$. Then by Theorem 4 and the nonnegativity of g'

(36)
$$E(g(\tau)X(\tau)^2) \ge cE(\int_0^\tau g(s) ds)$$

where $c = \Omega(R)/2$. By the Hölder inequality this yields

$$(Eg(\tau)^{n/(n-2)})^{(n-2)/n}(E|X(\tau)|^{n})^{2/n} \ge cE(\int_{0}^{\tau} (s \wedge k)^{n/2-1} ds)$$

$$(E(\tau \wedge k)^{n/2})^{(n-2)/n}(E|X(\tau)|^{n})^{2/n} \ge cE(\int_{0}^{\tau \wedge k} s^{n/2-1} ds)$$

$$\ge \frac{2c}{n} (E(\tau \wedge k)^{n/2})$$

or

(37)
$$\left(\frac{2c}{n}\right)^{n/2} E(\tau \wedge k)^{n/2} \leq E|X(\tau)|^n.$$

Letting $k \to \infty$ we get (30).

In view of Remark 4 following Theorem 4 the following result is valid. Let $\varphi = \varphi_1 - \varphi_2$ where φ_1 and φ_2 are nonnegative with $\varphi_i^{(2\nu)} \ge 0$ for $\nu = 0, 1, \dots, \lceil n/2 \rceil + 1$.

Then provided the quantities involved are all finite one has

(38)
$$E_{x}\varphi(X(\tau)) = \varphi(x) + \sum_{k=1}^{n-1} \frac{(-1)^{k-1}}{k!} E_{x}(\tau^{k} \mathscr{A}^{k} \varphi(X(\tau))) + \frac{(-1)^{n-1}}{(n-1)!} E_{x}(\int_{0}^{\tau} s^{n-1} \mathscr{A}^{n} \varphi(X(s)) ds).$$

For the function $\varphi(x) = x^n$ for n even (38) follows directly from Theorem 4. For $\varphi(x) = x^n$ for odd $n \ge 2$, (38) holds if we set

$$egin{array}{lll} arphi_1 = x^n & & ext{if} & x > 0 & & arphi_2 = 0 & & ext{if} & x > 0 \ & = 0 & & ext{if} & x \leq 0 & & = -x^n & & ext{if} & x \leq 0 & & ext{and} & arphi = arphi_1 - arphi_2 \,. \end{array}$$

Given an n, $\mathscr{A}^k \varphi$ will be zero for $k > \lfloor n/2 \rfloor$. This is clear from (18). Also $\mathscr{A}^k \varphi(x)$ is a polynomial in x of degree at most n-2k. So to prove (31) it is enough to check the finiteness of $E_x(\tau^k|X(\tau)|^l)$ for $k \leq \lfloor n/2 \rfloor$ and $l \leq n-2k$. But by Holder's inequality

$$E_x \tau^k |X(\tau)|^l \leqq (E_x \tau^{n/2})^{2k/n} (E_x |X(\tau)|^{\ln/(n-2k)})^{(n-2k)/n} \; ,$$

since $l \le n - 2k$ and $E_x |X(\tau)|^n < \infty$ by (i).

REMARK 1. In the case of the standard Browninan motion the constant c_1 in (32) in zero and we can improve (30) to read

$$cE_x\tau^{n/2} \leqq E_x|X(\tau)|^n \leqq CE_x\tau^{n/2}$$

for n > 2. This result is known and is due to Burkholder and Gundy [1] who employ very different methods.

REMARK 2. For processes other than the Brownian motion the right side of (30) cannot be improved to $CE_x\tau^{n/2}$ for n>2. In fact, if that were to be the case then $\limsup_{t\to 0}t^{-n/2}E_x|X(t)|^n\leq C<\infty$. But for n>2 this implies the continuity of the sample paths and hence makes the process a Brownian motion.

REFERENCES

- [1] Burkholder, D. L. and Gundy, R. F. (1970). Extrapolation and interpolation of quasilinear operators on martingales. *Acta. Math.* 124 249-304.
- [2] DOLEANS-DADE, C. and MEYER, P. A. (1970). Intégrales stochastiques par rapport aux martingales locales. Seminaire de Probabilities IV. Lecture Notes in Mathematics 124. Springer-Verlag, Berlin, 77-107.
- [3] DOOB, J. L. (1953). Stochastic Processes. Wiley, New York.
- [4] DYNKIN, E. B. (1965). Markov Processes 1. Academic Press, New York.
- [5] FELLER, W. (1966). An Introduction to Probability Theory and Its Applications 2. Wiley, New York.
- [6] Feller, W. (1968). One sided analogues of Karamatas regular variation. L'enseignment mathematique 15 107-121.
- [7] HALL, W. J. (1970). On Wald's equations in continuous time. J. Appl. Probability 7 59-68.

- [8] HA'SMINSKII, R. Z. (1960). Probabilistic representation of the solution of some differential equations. *Proc.* 6th *All Union Conf. on Theor. Probability and Math. Statist.* (Vilnius 190). (See *Math. Rev.* 3127 32 (1966) 532.)
- [9] Helms, L. L. (1967). Biharmonic functions and Brownian motion. J. Appl. Probability 4 130-136.
- [10] KURTZ, T. G. (1971). Limit theorems for sequences of jump Markov processes approximating ordinary differential processes. J. Appl. Probability 8 344-356.

DEPARTMENT OF MATHEMATICS UNIVERSITY OF WISCONSIN MADISON, WISCONSIN 53706